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Who founded the Servants of India society in 1906? a
a) Gopal | b) J. Joshi c¢) Mahatma | d) Laja Lajpat a) Gopal
Krishna Gandhi Rai Krishna
Gokhale Gokhale
Match the following players with the sports they played

A Mary Kom 1 Cricket

B Sachin Tendulkar i1 Hockey b

C Sania Mirza 1ii Boxing

D Manpreet Singh iv Tennis
a) A-ii, B-i, C- | b) A-iii, B-i, C- | ¢) A-iii, B-i, | d) A-iv, B-i, C- | b) A-iii, B-i,
iii, D-iv iv, D-ii C-ii, D-iv i, D-ii C-iv, D-ii
Which of the following’s films are of Disney?
A : Toy Story, Pinocchio, Dumbo
B : The Lion King, Zootopia

. a

C :The swan princess
D : Spirited Away
a)A, B b)C.D a)A, D b)C.A a)A,B
The question consists of two statements, an assertion(A), and a
justification(B). Mark your answer as per the codes provided in the
options below.
A: Assertion: Hybrid Electric Vehicles fuels running cost is lesser d
than Electric Vehicles
B: Justification: Hybrid Electric Vehicles have both an internal
combustion engine and an electric power generation system
a) Both A and | b)BothAandB | a) BothAand [d) A is not| d) A is not
B are correct | are correct and | B are correct | correct but B is | correct but B is
and B is the | B is the Not|and B is the | correct correct
correct correct correct

explanation of
A

explanation of
A

explanation of
A

Which one country did not share its border with Arunachal Pradesh? d
a) Bhutan b) China ¢) Myanmar d) Nepal d) Nepal
An algebraic expression that contains only one term is called: a

a) Monomial

b) Binomial

¢) Trinomial

d) Mometrix

a) Monomial




7 X introduces Y saying, “He is the husband of the grand-daughter of d
the father of my father”. How is Y related to X?
a)Brother b)Uncle c)Co-brother | d)Brother-in- d) Brother-in-
law law
8 Given below are three statements and three conclusions. Take the
statements to be true even if they are at variance with commonly
known facts, and decide whether the conclusion/s follow/s the given
statements.
Statements:
l. All grasses are shrubs. d
Il. All roots are fruits.
1. All fruits are flowers.
Conclusions:
l. All grasses are flowers.
Il. All roots are flowers.
1. Some flowers are fruits.
a) Only | b) Only | ¢) all the | d)Conclusion Il | d) Conclusion
conclusion IIT | conclusion I | conclusion and III follow IT and III
follows follows follows follow
9 Match the following:
A. Profit 1. 50% b
B. Loss ii. C.P.-S.P.
C. Net Price iii. C.P. + Expenses
D. 6/12 iv. S.P.-N.P.
a) A(iii), B(ii), | b) A(iv), B(ii), | ¢) A(ii), B(iv), | d) A(iv), B(i), | b) A(iv), B(ii),
C(@iv), D(i) C(iii), D(1) C(iii), D(1) C(iii), D(i1) C(iii), D(1)
10 | Complete the following series
a
9,11, 15, 23,39,?
a) 71 b) 70 c) 45 d) 57 a)71
11 | He said to her, “What a cold day!” d
a) He told her | b) He | c)He d)He exclaimed
that it was a | exclaimed that | exclaimed that it was a d.) He
) exclaimed that
cold day. it was a cold | sorrowfully very cold day. .
. 1t was a very
day. that it was a cold day
cold day.
12 | Match the following pairs of synonyms.
A Affiliate i. Enrage
B. Explicit i1. Associate ¢
C. Diligent iii. Clear
D. Infuriate iv. Industrious
a) A-I, B-iii, | b) A-I, B-ii, C- | ¢) A-ii, B-iii, | d) A-iii, B-ii, C- | c¢) A-ii, B-iii,
C-ii, D-iv 1, D-1v C-iv, D-1 I, D-iv C-iv, D-1
13 | True or False statements: b

A. A preposition is always followed by a "noun".

3




B. The past tense of "must" is "musted".

C. The verb "to think" is never used in continuous tenses.

D. Questions always use an auxiliary verb.

a) A-False, B- | b) A-True, B-|c) A-True B-|d) A-False, B-|b) A-True, B-

True, C-False, | False, C-False, | True, C-False, | True, C-False, | False, C-False,

D-True D-False D-True D-False D-False
14 | The question consists of two statements, an assertion(A), and a

justification(B). Mark your answer as per the codes provided in the

options below. c

A: Assertion- Inside the earth metals are present in molten state.

B: Justification- Earth absorbs the sun's rays.

a) Both A and | b) BothAand B | ¢) Aiis true but | d) A is false but

B are true and | are true but B is | B is false. B is true. :

B is the correct | not the correct ©) A is true but

! . B is false.

explanation of | explanation of

A. A.
15 | Arrange these four sentences in proper order to form a meaningful

paragraph/sentence.

P. a huge surge of protesters joining the sites

Q. is the case, and all protest sites are witnessing a

R. the government should know that quite the opposite

S. an image of dwindling numbers at the protest sites

T. While the spin doctors of BJP continue to try to create

a) TSRQP | b) PRSQT | c) QPRST | d) STQPR a) TSRQP
16 | Wehave  strawberries here. b

a) a little \ b) a lot of \ ) any \ d) too much b) a lot of
17 | Which Indian state aims to establish an AT hub and make the internet c

a basic right for its citizens?

a) Delhi ‘ b) Karnataka ‘ c¢) Telangana ‘ d) Gujarat c) Telangana
18 | Which of the following are a part of health care sector?

A: Medical Tourism

B: Tele medicine a

C: Clinical Trials

D: Health insurance

a)A,B,C,D |b)A,BandC [c)A,B,D |d)B,C,D a)A,B,C,D
19 | PIN Code is the example of ? d

a)Ratio Data b)Interval data | ¢)Ordinal d)Categorical d) Categorical

Data data data

20 | The National Food Security Act was passed in the year d

a)2009 | b) 2012 | ©) 2010 | d)2013 d) 2013
21 | Development expenditure of the Central government does not a

include.

a) defens | b) expenditure | ¢) expenditure | d) grant to states | a) defens

e expenditure | on  economic | on social and e expenditure

services




community

services
22 | Which is correctly matched?
A. Kolkata I Main rubber producing
state
B. Kerala ii. Highest commercial d
airport
C. Leh iii. State with highest road
length
D. Maharashtra iv. Oldest port
a) A-iii, B-1, C- | b) A-iv, B-ii, C- | ¢)A-ii, B-i, C- | d)A-iv, B-i, C-| d)A-iv, B-i, C-
iv, D-ii i, D-iii iv, D-iii ii, D-iii i1, D-iii
23 | Which of the following statements is False?
A. There is no constitutional provision in India about the
Planning Commission.
B. Planning commission was established in January 1951
C. National Development Council was established in August | a
1952
D. Jawaharlal Nehru, was the first chairman of the Planning
Commission
a)B b)D A d)C
a)B
24 | The question consists of two statements, an assertion (A) and a
justification (B). Mark your answer as per the codes provided in the
options below.
A: Assertion- The President of India has the power to declare a N
financial emergency in view of the financial situation of the country.
B: Justification- The declaration of financial emergency requires the
approval of both houses of parliament.
a) Both A and | b) BothAand B | ¢) Aiis true but | d) A is false but | a) Both A and
B are true and | are true but B is | B is false. B is true. B are true and
B is the correct | not the correct B is the correct
explanation of | explanation of explanation of
A. A. A.
25 | The power to decide an election petition is vested in the
C
a) Parliament | b) Supreme | ¢) High courts | d) Election | ¢) High courts
Court Commission
26 | The minimum age to qualify for election to the Lok Sabha is a
a) 25 years b) 21 years c) 18 years d) 35 years a) 25 years




27

Which is correctly matched?

A. 5 .Member of Rajya Sabha nominated by the
President

.Types of emergencies in Constitution of India

B. 14
C. 12

Number of writs that can be prayed for and issued
by the Supreme court and / or a High Court
.Member of LokSabha nominated by the President

D. 3

a) A- ii, B-iii, | b) A-iil, B- iV, | ¢) A-i, B-iv, | d) A-iii, B-i, C-
C-i, D-iv C-i, D-ii C-ii, D-iii iv, D-ii

b) A-iii, B- iv,
C-i, D-ii

28

Which of the following statements are True?

A. In India Yellow Revolution is associated with production of
tea.

B. The largest producer of Coffee in the country is Tamil Nadu.

C. Kolkata has the highest number of cotton mills in India.

D. Manufactured product is the main cause of higher inflation in
India.

a)B | b)C | 0A | dD

d)D

29

Fill in the blanks from the appropriate word from the options below:

Article 32 belongs to of the Indian Constitution.

a) Part I1 | b) Part I | ¢) Part III | d) Part IV

c) Part I1I

30

States earn maximum revenue through

C

a) land | b)
revenue revenue

d) excise duties
on intoxicants

custom | ¢) commercial

taxes

c)commercial
taxes

31

FDI stands for

b

a) Future
Direct
Investment

b) Foreign
Direct
investment

c)Further d) Fund for
Direct Direct
Investment Investment

b)Foreign
Direct
investment

32

Which is correctly matched?

1961-66
1951-56
2002-07
1985-90

A. First Five-Year Plan i.
B Third Five Year Plan il.
C. Seventh Five Year Plan iii.
D

Tenth Five Year Plan iv.

a) A-ii, B-i, C- | b) A-iil, B-i, C- | ¢) A-i, B-iv, | d) A-iv, B-ii, C-
iv, D-iii iv, D-ii C-iii, D-ii i, D- iii

a) A-ii, B-i, C-
iv, D-iii

33

Which of the following statements is false in relation to the
financial emergency?

A. The declaration of financial emergency requires the approval
of both houses of parliament.




B. The resolution approving the declaration of financial
emergency should be passed by a special majority by either House of
Parliament.

C. Once approved by both houses of parliament, the financial
emergency continues indefinitely, until it is revoked by the President.
D. The declaration of financial emergency can be cancelled by

the President at any time. Such a proclamation does not require
parliamentary approval.

a) C |b)B oD DA b)B
34 | Fill in the blanks from the appropriate word from the options below: b
The procedure of Impeachment of the President of India is
a) Judicial | b) Quasi- | ¢) Legislative | d)  Executive | b) Quasi-
Procedure Judicial Procedure Procedure Judicial
Procedure Procedure
35
Fill in the blanks from the appropriate word from the options below: d
“Golden Revolution” is related to
a) Precious | b) Pulses c) Jute d) Horticulture | d) Horticulture
Minerals and Honey and Honey
36 | Which is correctly matched?
A Appoints the Chief Election | i. Parliament
Commission of India
B. The power to decide an election | ii. Prime Minister
petition is vested on ¢
C. The President of India can be | iii. President
removed from his office by the
D. The Chairman of the Planning | iv. Election
Commission in India is the Commission
a) A-i, B-iii, C- | b) A-iv, B-i, C- | ¢) A-iii, B-iv, | d) A-iii, B-i, C- | c) A-iii, B-iv,
iv, D-ii ii, D-iii C-i, D-ii iv, D-ii C-i, D-ii
37 | Which of the following statements is False?
A The first Five-Year plan was launched from 1st April 1951
B. Dr. Rajendra Prasad was the first chairman of the Planning
Commission of India b
C. The National Development Council used to give final
approval to the Five-Year Plan
D. The first Five-Year plan was based on the Harrod- Domar
model.
a) C |b)B | c)D | DA b) B
38 | The question consists of two statements, an assertion(A), and a
justification(B). Mark your answer as per the codes provided in the
options below.
a

A: Assertion-A Constitution Amendment Bill has also provisions
pertaining to imposition, abolition, remission, alteration, or
regulation of a tax.




B: Justification-A Constitution Amendment Bill is not treated as a
Money Bill even if all its provisions attract article 110(1) for the
reason that such amendments are governed by article 368 which over-
rides the provisions regarding Money Bills.

a) Both A and | b) BothAand B | ¢) Ais true but | d) A is false but
. . a) Both A and
B are true. are false. B is false. B is true.
B are true.
39 | Fill in the blanks from the appropriate word from the options below:
a
Dairy comes under sector of economic activity.
a)Tertiary \ b) Primary | c¢) Secondary \ d) Quaternary a)Tertiary
40 | The question consists of two statements, an assertion (A), and a
justification (B). Mark your answer as per the codes provided in the
options below.
A: Assertion- The Union Public Service Commission is the
‘watchdog of merit system’ in India. It conducts recruitment to the | ¢
all-India services and Central services—group A and group B.
B: Justification- The Union Public Service Commission is involved
in classification of services, pay and service conditions, cadre
management & training.
a) Both A and | b) BothAand B | c) Ais true but | d) A is false but | ¢) A is true but
B are true. are false. B is false. B is true. B is false.
41 | Which telecom company surpassed China Mobile to lead the global
telcom industry in data traffic? d
a) Bharti Airtel | b) Verizon c) T-Mobile d) Reliance Jio | d) Reliance Jio
42 | Which is correctly matched?
A The country that became | i. Egypt
the 32nd official member of NATO
B. The country that became | ii. Russia
the 4th new member of the New
Development Bank in 2021. a
C. In October 2021, which | iii. France
country test fired the hypersonic
Tsirkon missile for the first time.
D. Which European country | iv. Sweden
has announced plans to ban
disposable electronic cigarettes?
a) A-iv, B-i, C- | b) A-i, B-iii, C- | ¢) A-ii, B-iv, | d) A-ii, B-i, C- | a) A-iv, B-i,
ii, D-iii iv, D-ii C-i, D-iii iv, D-iii C-ii, D-iii
43 | Which of the following statement with respect to currency option
is false?
c

A. Foreign currency- Rupee option is available in India
B. An American option can be executed on any day during its
currency




C. Put option gives the buyer the right to sell the foreign currency
D. Call option will be used by exporters

a)B b C oD (DA c)D
44 | Which country has been chosen as the 'Country of Honour' for the
75th Cannes Film Festival? b
a) Uzbekistan | b) India ¢) Singapore | d) Bangladesh | b) India
45 | Which is correctly matched?
A. National Voter’s Day I. 13 February
B National Women’s Day | ii. 16 November c
C. National Safety Day iii. 25 January
D National Press Day iv. 4 March
a) A-ii, B-iv, | b)A-i, B-iii, C- | ¢) A-iii, B-i, [ d) A-ii, B-i, C- | ¢) A-iii, B-i,
C-i, D-iii iv, D-ii C-iv, D-ii iv, D-iii C-iv, D-ii
46 | Which of the following is false regarding WTO?
A It administers WTO trade agreements
B. It acts as a forum for trade negotiations c
C. It monitors national trade policies
D. It supplies technical assistance and training for developing
and developed countries
a) B [b)A B [d)C ¢)D
47 | The question consists of two statements, an assertion (A), and a
justification (B). Mark your answer as per the codes provided in the
options below.
A: Assertion- United Nations Organisation was established on 24 a
October 1945
B: Justification- its main object is to establish world peace and
security
a) Both A and | b)BothAandB | ¢) A is true, | d) Ais false, but | a) Both A and
B are true and | are true and B is | but B is false | B is true B are true and
B is the correct | not the correct B is the
explanation of | explanation of correct
A A explanation of
A
48
Which is the focus country of the 17th Mumbai International Film b
Festival?
a) Nepal b) Bangladesh | ¢) Bhutan d) Sri Lanka b) Bangladesh
49

How many member countries are there in NATO in 2023?




a)31 b)30 )29 d)35 a) 31
50
Which is correctly matched?
A First Indian film I. Dadasaheb Phalke
B. First Indian to get an | ii. Kisan Kanya d
Oscar
C. Father of Indian Cinema | iii. Raja Harischandra
D. First color film in India iv. Bhanu Athaiya
a) A-ii, B-iv, | b) A-iii, B-iv, | c¢) A-i, B-iv, | d) A-iii, B-iv, C- | d) A-iii, B-iv,
C-i, D-iii C-ii, D-i C-i, D-iii i, D-ii C-i, D-ii
51 | Diplomacy is
A About the use of force
B. About the use of persuasion c
C. About the use of not listening to others’ concerns
D. About being sent abroad to lie for the good of one’s country
a) C [b)D | c)B | DA c)B
52 | ‘Pregnant Workers Fairness Act’ has been enacted in which country?
A USA
B. India b
C. Japan
D. China
a) B (b A [c)D [d)C b) A
53 | Majuli manuscript painting, recently seen in the news, is associated
with a
which state?
a) Assam b) Manipur ¢) Tripura d) Mizoram a) Assam
54 | Which of the following countries is/are part of the organization of
petroleum exporting countries (OPEC)?
1. Iran
2. Iraq
3. Kuwait d
4. Ecuador
Select the correct answer using the code given below:
a) Only 1, | b) Only 1 |c) Only 2 | d) All 1, 2,| d)All1,2,3,
2and 3 and 3 and 4 3,and 4 and 4
55 | Recently, which country’s parliament has approved a controversial
anti-LGBTQ bill, the Human Sexual Rights and Family Values Bill? d)
a) Togo b) Nigeria c) Liberia d) Ghana d) Ghana
56 | Which of the following has been initiated first by NITI Aayog? b
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Mission Karma Yogi

National data Analytics worker

Atal innovation mission

Shoonya-Zero Pollution Mobility campaign.

elect the correct answer using the correct code given below-

N W

a) Only 1 | b) Only 2, | ¢) Only 1 | d)All1,2,3and | b) Only 2, 3,
and 3 3,and 4 and 2 4 and 4
57 | Statement I: Most of the member countries in the International solar
Alliance are located between the Tropic of Cancer and Tropic of
Capricorn.
Statement II: Japan is a member country of the International solar C
alliance.
Which of the above statement is/are correct?
a)l only b)II only c)Both I'and IT | d)Neither I nor | c¢) Both I and
11 11
58 | Which of the following tribal arts and their states are correctly
matched?
A. Madhubani Art 1. Bihar
B. Saura Painting ii. Odisa d
C. Gond Painting 1il. Madhya Pradesh
D. Maheshwari Sarees iv. Madhya Pradesh
Select the correct answer using the code given below-
a)Only A and | b) Only B and | ¢c) Only A, B | d) All A, B, C| d)AllA,B,C
B C and C and D and D
59 | Who among the following it the first women speaker in the Lok
Sabha? C
a)Pratibha b)Urmila Singh | c)Meira d)Shushma c¢) Meira
Patil Kumar Swaraj Kumar
60 | ‘Science Media Communication Cell (SMCC)’ is associated with
which Union Ministry? a
a) Ministry of | b) Ministry of | ¢) Ministry of | d) Ministry of ..
Science  and | Communicatio | Information External Affairs 2) M1n1stry of
Science and
Technology n and Technolo
Broadcasting gy
61 | Which day is celebrated as ‘Jan Aushadhi Day’ every year? b
b) 7 March
a) 6 March b) 7 March c¢) 8 March d) 9 March
62 | Consider the following statements regarding Asian Games-
1. The 2022 Asian Games were held in Hangzhou, China in year
2023 d
2. The Asian Games are organised by the Olympic Council of
Asia.
3. They are held once every 4 years.
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4, The 2022 Asian Games will also serve as a qualifier for the
2024 Olympics in Paris.
Which of the above statements is/are correct?

a)Only 1 and 2 | b)only 2 conly3and4 | d)All1,2,3and | d)All1,2,3
4 and 4
63 | Which of the following is characteristic of social problem? a
a) It affects on | b) Always | c) None of|d) All of the | a) It affects on
a large section | creates above. above. a large section
of a society. frustrations. of a society.
64 | The Rowlett Act was passed in which year? a
a)1919 b)1918 c)1917 d)1916 a) 1919
65 | With reference to the newly appointed Chief Ministers in five states
were elections were held in November 2023, consider the following
pairs-
A. Chattisgarh 1. Vishnu Dev Sai
B. Madhya Pradesh ii. Mohan Yadav d
C. Mizorum iii.Lalduhawma
D. Rajasthan iv. Bhajanlal Sharma
E. Telangana v. Anumula Revanth Reddy
How many pairs given above is/are correct?
a) only 2 b) only 3 c) only 4 d) all the 5 d) all the 5
66 | Mohenjo daro is situated in ? a
a) Pakistan b) Gujarat c¢) Punjab d) Afghanistan a) Pakistan
67 | The constitution of India initially permitted the use of English c
language for all the official purposes for a period of :
a) 5 years b) 10 years c) 15 years d) 20 years c) 15 years
68 | In which of the following Ancient Indian universities, the culture and
civilization of Tibet was built mainly through the writings of the b
scholars?
a) Nalanda c) Jagaddala d) Mithila b) Vikramsila
b) Vikramsila
69 | Match the following:
A. Depressed classes Mission | 1. Vitthal Ramji Sinde
society
B. Bahujan Samaj 1910 1. Mukund Rao Patil N
C. Bahishkrit Hitkari Sabha iii. B. R. Ambedkar
D.Harijan Sevak Samaj iv. Mahatma Gandhi

Choose the correct answer following codes given below:

12




a) A(i), B(i), | b) A(ii), B(iii), | ¢) A(v), | d) A(i), B(iv), | a)A(), B(ii),
C(iii) and | C(i) and D(iv) | B(iii),  C(ii) | C(ii) and D(iii) C(iii) and
D(iv) and D(i) D(iv)
70 | Biodiversity heritage sites in India are protected under- d
a) Forest | b) Environment | ¢) Wildlife | d)  Biological | d) Biological
Conservation | Protection Act | Protection act | Diversity Act, | Diversity Act,
Act 1980 1986 1972 2002 2002
71 | What does infant mortality indicate? b
a) Literate | b) The number | ¢) The total | d) The number | b) The number
population in | of children that | number of | of children born | of children that
the 7 and | die before the | children in a year. die before the
above age age of one year | attending the age of one year
as a proportion | school. as a proportion
of 1000 live of 1000 live
children. children.
72 | Consider the following pairs----
A. Lord Wellesley 1. Subsideary Allience
B. Lord Cornwallis i1 Asiatic Society of Bengal a
C. William Bentinck iii Abolition of Sati
Which of the above given pairs is/ are not correctly matched?
a)Only 2 b)Only2and 3 |c)all, 1,2 and | d) None of the 2)Only 2
3 above
73 | Dzuku Valley hill station is located in the boarder of which of the d
following pair of states?
a) Nagaland b)Manipur and | c)Manipur d) Nggaland and d) Nagaland
and Arunachal | Mizorum and Manipur 4 Mani
Pradesh Meghalaya anc vianiput
74 | URL stands for a
a) Universal [ b)  Universal | ¢) Universal | d) Universal | a) Universal
Resource Resource List | Resource Line | Resource Link Resource
Locator Locator
75 | The question consists of two statements, an assertion(A), and a
justification(B). Mark your answer as per the codes provided in the
options below.
A: Assertion: C, C++ and JAVA are high level languages N
B: Justification: High level languages are used for wide variety of
applications including web development, data analysis and Artificial
Intelligence
a) Both A and | b)BothAandB | c) Ais correct |d) A is not| a)Both A and
B are correct | are correct and | but B is not | correct but B is | B are correct
and B is the | B is the Not | correct correct and B is the
correct correct correct
explanation of | explanation of explanation of
A A A
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76 | Choose the correct matching pairs:
A 1Byte i 1000KB
B 1 Kilo Byte ii 8 bits a
C 1 Giga Byte iii 1000 bytes
D 1 Mega Byte iv 1000MB
a) A-ii, B-iii, | b) A-i, B-iii, C- | ¢) A-i, B-ii, C- | d) A-ii, B-iv, C- | a) A-ii, B-iii,
C-iv, D1 iv, D-ii iv, D-iii iii, D-i C-iv, D-i
77 | Which of the following statement is FALSE?
A Mozilla Firebox is an open source software
B Widows is an operating system C
C We use MS Word for word processing
D Adobe Reader is used for editing visuals
a)A, B b)C,D c)D d)A,D c)D
78 | MPEG-2 was designed for high quality DVD with a data rate of a
a)3-6 mbps ‘ b) 4-6 mbps ‘ c¢) 6-8 mbps ‘ d) 6-10 mbps a)3-6 mbps
79 | Find the correct matching pairs from the following:
A: First Generations i: Transistors
B: Second Generations 11: Microprocessors a
C: Third Generations 111: Vacuum tubes
D: Fourth Generations 1v: Integrated Circuits
a) A:;ii, B:i, [ b) A: iv, B:ii, | ¢) A:iii, B:ii, | d) A:iii, B:i, | a)A:iii, B,
C:iv,D:11 C:111,D:1 C:iv,D:1 C:11,D:iv C:iv,D:1i
80 | SITE stands for a
a)Satellite b) Satellite | c)Satellite d)Satellite a)Satellite
instructional instructional intervention instructional instructional
television teleplay television transmission television
experiment experiment experiment experiment experiment
81 | Choose the matching pair from the following regarding computer
applications
A: HTML i: Hypertext transfer protocol
C
B: HTTP 1i: word processor
C: Programme 1ii: Hypertext markup language
D: Software v: C++
a)A-ii, B-i, C- | b)A-iii, B-ii, C- | ¢)A-iii, B-i, C- | d)A-iv, B-i, C- | ¢)A-iii, B-i, C-
iv, D-iii iv, D-i iv, D-ii iii, D-ii iv, D-ii
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82 | When Radio signals are sent out to many receivers at the same time b
is called
a)Publication | b)Broadcasting | c)Sharing d)Disseminatio | b)Broadcastin
n g
83 | Mc Bride Commission report was named b
a)Many voices | b)Many voices | c)Many views d)Many b)Many voices
one country one world one world countries  one
) one world
voice
84 | Who coined the world ‘Global Village’ a
a)Marshal c)Wilber d)Daniel a)Marshal
McLuhan b)Mao Zedong Shramm Learner McLuhan
85 | The question consists of two statements, an assertion(A), and a
justification(B). Mark your answer as per the codes provided in the
options below.
A: Assertion-The liberalization policy of India was introduced in the b
year 1991
B: Justification-Liberalization means removing government control
of economic activities.
a) Both A and | b) Both Aand B | c) Ais true but | d) A is false but | b) Both A and
B are true and | are true but B is | B is false. B is true. B are true but
B is the correct | not the correct B is not the
explanation of | explanation of correct
A. A. explanation of
A.
86 | The vital challenges that Media faces is a
a)Censorship | b)Advertising c)anguage d)circulations a)Censorship
barrier
87 | Find out from the following statement which are FALSE
A: India is a sovereign, secular, democratic republic
B: The Constitution of India came into force on 26"January, 1949
C: The Constitution of India provides parliamentary form of d
government
D: There are two houses in the parliament, Rajya Sabha and Lok
Sabha
a)A,B, C,D b)A,C,D ¢)B,C,.D d)B d)B
88 | The question consists of two statements, an assertion(A), and a
justification(B). Mark your answer as per the codes provided in the
options below. d

A: Assertion-JPEG stands for Joint Photographic Engineering Group
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B: Justification- JPEG is one of the most widely used image file

formats
a) Both A and | b) BothAand B | ¢) Aiis true but | d) A is false but
B are true and | are true but B is | B is false. B is true.
B is the correct | not the correct d)A is false
explanation of | explanation of but B is true.
A. A.
89 | Which of the following is not a network topology?
A: LAN b
B: WAN
C: SWAN
D: RAM
a)ABCD |b)D | ¢)B,C,D | d)A,B,D b) D
90 | Consider the following statement with respect to distance of sun from
earth:
A The farthest distance of the earth from the sun is 152 million
km on 4™ July. .
B. The position of the earth when it is nearest to the sun is called
Aphelion.
Which of the following statements is/are correct?
a) only A b) only B 103) Both A and ?3) Neither A nor a) only A
91 | With reference to the various political organisations formed in the
second half of 19" century, consider the following pairs:
A. Land Holders’ Society 1. Debendranath Tagore
B. British India Association i1. Dwarkanath Tagore
C
C. Indian League iil. Sishir Kumar Ghose
D.Madras Mahajan Sabha iv. P. Ananda Charlu
Which are the pairs given above are correctly matched?
a) only A and | b)OnlyAand B | ¢) Only C and | d) only Band D | ¢) Only C and
C D D
92 | When was the EVM (Electronic Voting Machine) first used in
elections in India? ©
a) 1980 b) 1981 c) 1982 d) 1983 ¢) 1982
93 | Which one of the following statements is False:
A. Goa attained full statehood in 1987
B. Diu is an island in the Gulf of Khambhat
C. Daman and Diu were separated from Goa by the 56 | a
Amendment of the Constitution of India
D. Dadra and Nagar Haveli were under French colonial rule till
1954
a) D [b)C o)A | d)B a) D
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94 | The question consists of two statements, an assertion (A), and a
justification (B). Mark your answer as per the codes provided in the
options below.
A: Assertion- Idealist approach to International Relations advocates a
Morality.
B: Justification- It held that morality leads state to development.
a) Both A and | b)BothAand |c) A is true, | d) Ais false, but | a) Both A and
B are true and | B are true and | but B is false | B is true B are true and
B is the correct | B is not the B is the
explanation of | correct correct
A explanation of explanation of
A A
95 | Which principle focuses on resolving conflicts through dialogue and
mutual respect, reflecting India’s approach to international relations? C
a) Democracy | b) Socialism c¢) Panchsheel | d) Communism | c) Panchsheel
96 | Find the correct for matching pairs:
A: First Generations i: Transitors
B: Second Generations ii: Microprocessors e
C: Third Generations 1ii: Vacuum tubes
D: Fourth Generations 1v: Integrated Circuits
a) A:;ii, B:i, | b) A:;iv, Buii, | c¢) A:iii, B:ii, | d) A:iii, B, | a)A:iii, B,
C:iv,D:11 C:111,D:1 C:iv,D:1 C:11,D:iv C:iv,D:1i
97 | Modern day communication has taken a new height because of d
a)Newspaper | b)Radio )TV d)Mobile d)Mobile
phones phones
98 | Who invented the world wide web c
a) Joseph | b) George Tag | ¢) Tim | d) Dennis Lee c¢) Tim Berners
Phoebeb Berners Lee Lee
99 | Which of the following statement are TRUE?
A: Media is known as fourth estate
B: Television is an electronic medium b
C: Radio signals are transmitted in FM and AM only
D: DTH stands for Direct to Home
a)A, B, C b)A,B,D ¢)B,C,D d)A,B b)A, B, D
10 | We can obtain per capita income of a country by calculating: b
0
?1) the total b) by dividing c) the total |d) the total | b)by dlYldlng
income of a . value of all | exports of the | the national
the national .
person . goods and | country income by the
income by the .
services total
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total population
of a country

population of
a country
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